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Question 36: “To win a prize is my ambition”. The underlined part of the sentence is
alan-

A. adjective phrase

B. conjunctional phrase

C. adverb phrase

D. noun phrase

Answer: D) noun phrase

Explanation: The phrase "to win a prize" functions as a noun because it acts as the subject of
the sentence, expressing a specific ambition.

Question 37: Choose the word opposite in meaning to “terse”-
A. concise

B. descriptive

C. expressive

D. detailed

Answer: B) descriptive

Explanation: "Descriptive" means providing a lot of detail, which is the opposite of "terse,"
meaning brief or concise.

Question 38: “Who's that?” In this sentence “that” is a/an-
A. adverb

B. conjunction

C. adjective

D. pronoun



Answer: D) pronoun

Explanation: "That" is used to refer to a person whose identity is unknown, functioning as a
pronoun.

Question 39: What is the noun form of the word “know”?
A. knowing

B. Known

C. knowledgeable

D. knowledge

Answer: D) knowledge

Explanation: "Knowledge" is the noun form, referring to the information, understanding, or skills
acquired through experience or education.

Question 40: “Why, then, 'tis none to you, for there is nothing either good or bad, but
thinking makes it so”. This extract is taken from the drama-

A. King Lear

B. Macbeth

C. As You Like It

D. Hamlet

Answer: D) Hamlet

Explanation: The line is spoken by Hamlet in Act 2, Scene 2 of Shakespeare's play "Hamlet,"
reflecting on the subjective nature of reality and perception.

Question 41: “Made weak by time and fate, but strong in will To strive to seek, to find,
and not to yield” is taken from the poem written by-

A. Robert Browning

B. Matthew Arnold

C. Lord Byron

D. Alfred Tennyson

Answer: D) Alfred Tennyson

Explanation: The line is from Alfred Tennyson's poem "Ulysses," which reflects the enduring
spirit and determination of its protagonist.



Question 42: “Give somebody a piece of your mind” means to-
A. give somebody mental peace

B. say exactly what you feel or think.

C. return or to help somebody return to a normal situation.

D. tell someone that you are very angry with them.

Answer: B) say exactly what you feel or think.

Explanation: The phrase means expressing one's true thoughts or feelings, often candidly or
bluntly.

Question 43: “I shall help you provided you obey me”. Here the underlined word is a/an-
A. adverb

B. adjective

C. verb

D. conjunction

Answer: D) conjunction

Explanation: The word "provided" connects two clauses, indicating a condition, which is the
function of a conjunction.

Question 44: ldentify the correct spelling
A. questionaire

B. questionoir

C. questionair

D. questionnaire

Answer: D) questionnaire

Explanation: "Questionnaire" is the correct spelling with a double "n" and "e" at the end.
Question 45: Which “but” is a preposition?

A. It is but right to admit our faults.

B. There is no one but likes him.

C. We tried hard, but did not succeed.

D. What can we do but sit and wait?

Answer: B) There is no one but likes him.

Explanation: "But" in option B functions as a preposition meaning "except."



Question 46: Who is not a romantic poet?
A. P. B. Shelley

B. S. T. Coleridge

C. John Keats

D. T. S. Eliot

Answer: D) T. S. Eliot

Explanation: T. S. Eliot is associated with modernism, not the Romantic era.

Question 47: In Shakespeare's play Hamlet, Hamlet was prince of
A. Norway

B. Britain

C. France

D. Denmark

Answer: D) Denmark

Explanation: Hamlet is the Prince of Denmark, as the play is set in the Danish court.

Question 48: Adela Quested and Mrs. Moore are characters from the novel-
A. David Copperfield

B. The Return of the Native

C. Adam Bede

D. A Passage to India

Answer: D) A Passage to India

Explanation: Adela Quested and Mrs. Moore are central characters in "A Passage to India" by
E.M. Forster, which explores themes of cultural misunderstanding and colonial tension in
British-occupied India.

Question 49: “Shylock” is a character in the play-
A. Twelfth Night

B. Measure for Measure

C. Romeo and Juliet

D. The Merchant of Venice

Answer: D) The Merchant of Venice



Explanation: Shylock is a central character in "The Merchant of Venice," where he is portrayed
as a Jewish moneylender.

Question 50: ‘Vanity Fair’ is a novel written by-
A. D. H. Lawrence

B. Virgina Woolf

C. Joseph Conrad

D. William Makepeace Thackeray

Answer: D) William Makepeace Thackeray

Explanation: William Makepeace Thackeray authored "Vanity Fair," which is a classic English
novel published in 1847-1848.

Question 51: 'Pip' is the protagonist in Charles Dickens' novel-
A. A Christmas Carol

B. A Tale of Two Cities

C. Oliver Twist

D. Great Expectations

Answer: D) Great Expectations

Explanation: Pip is the main character in "Great Expectations," where his journey from a young
orphan to a gentleman is central to the story.

Question 52: ‘Lady Chatterley's Lover’ was written by the author of-
A. Lord Jim

B. A Passage to India

C. Ulysses

D. The Rainbow

Answer: D) The Rainbow
Explanation: Both "Lady Chatterley's Lover" and "The Rainbow" were written by D.H.

Lawrence.

Question 53: ldentify the word that can be used as both singular and plural:
A. wood
B. issue



C. light
D. fish

Answer: D) fish

Explanation: "Fish" can refer to one or multiple fish without changing form.

Question 54: Find out the correct passive form of the sentence 'Who taught you
French?'

A. By whom you were taught French?

B. By whom French was taught you?

C. French was taught you by whom?

D. By whom were you taught French?

Answer: D) By whom were you taught French?

Explanation: The correct structure for forming a passive question in English uses "by whom"
followed by the auxiliary verb "were," the subject "you," and the main verb "taught."

Question 55: “The old man was tired of walking”. Here 'walking' is a/an-
A. present participle

B. adjective

C. common noun

D. gerund

Answer: A) present participle

Explanation: "Walking" is a present participle because it is derived from the verb "walk" and is
used here to describe the action related to the noun "man."

Question 56: Which one is the correct sentence?
A. The doctor found my pulse.

B. The doctor saw my pulse.

C. The doctor examined my pulse.

D. The doctor took my pulse.

Answer: C) The doctor examined my pulse.

Explanation: "Examined" accurately describes the action of a doctor checking the pulse to
assess health.



Question 57: ‘I will not let you go’. In this sentence 'go’ is a/an-
A. verbal noun

B. gerund

C. participle

D. infinitive

Answer: B) gerund

Explanation: The word "go" functions as a noun, representing the action of going, thus making
it a gerund.

Question 58: When Ushashi entered the room everybody stopped talking.
A.into

B.in

C.to

D. no preposition required

Answer: A) into

Explanation: "Into" indicates movement toward the inside of a place, which is appropriate for
entering a room.

Question 59: The play 'The Birthday Party' is written by-
A. Samel Beckett

B. Henry Livings

C. Arthur Miller

D. Harold Pinter

Answer: D) Harold Pinter

Explanation: Harold Pinter is the playwright of "The Birthday Party,' which is one of his most
famous works.

Question 60: “Time held me green and dying Though | sang in my chains like the sea”.
These lines have been quoted from Dylan Thomas' poem-

A. The Flower

B. After the Funeral

C. By Fire

D. Fern Hill



Answer: D) Fern Hill

Explanation: The lines reflect themes of nostalgia and the passage of time, which are central to
"Fern Hill," where the speaker reminisces about childhood and the inevitable aging process.

Question 61: One whose attitude is 'eat, drink and be merry’ is-
A. materialistic

B. stoic

C. cynic

D. epicurean

Answer: D) epicurean

Explanation: Epicurean refers to someone who seeks pleasure and enjoyment, particularly in
food and drink, aligning with the 'eat, drink and be merry' attitude.

Question 62: 'Was this the face that launch'd a thousand ships, And burnt the topless
towers of llium? Who speaks the famous lines?

A. Caesar

B. Antony

C. Romeo

D. Faustus

Answer: D) Faustus
Explanation: These lines are spoken by Dr. Faustus in Christopher Marlowe's play "Doctor

Faustus," referring to Helen of Troy.

Question 63: The Character "Alfred Doolittle' is taken from Shaw's play titled-
A. Mrs. Warren's Profession

B. Man and Superman

C. The Doctor's Dilemma

D. Pygmalion

Answer: D) Pygmalion
Explanation: Alfred Doolittle is a character in "Pygmalion," where he is portrayed as Eliza

Doolittle's father, a dustman with unique views on middle-class morality.

Question 64: The poem 'The Love Song of J. Alfred Prufrock’ is written by-



A. W. B. Yeats

B. Robert Browning
C. Walter Scott
D.T. S. Eliot

Answer: D) T. S. Eliot

Explanation: T. S. Eliot is the author of 'The Love Song of J. Alfred Prufrock,' a landmark
modernist poem published in 1915.

Question 65: Who is the author of the first scientific romance 'The Time Machine'?
A. George Moore

B. Samuel Butler

C. Henry James

D. H. G. Wells

Answer: D) H. G. Wells

Explanation: H. G. Wells is credited with writing 'The Time Machine,' which is considered the
first scientific romance, a precursor to modern science fiction.

Question 66: 'Call me if you have any problems regarding your work'. Here 'regarding’ is
alan-

A. gerund

B. apposition

C. conjunction

D. preposition

Answer: D) preposition

Explanation: "Regarding" is a preposition because it shows the relationship between
"problems" and "work."

Question 67: Select the correct comparative form of the sentence. 'A string of pearls was
not so bright as her teeth.’

A. Her teeth was more brighter than a string of pearls.

B. A string of pearls were very bright than her teeth.

C. A string of pearls was brighter than her teeth.

D. Her teeth were brighter than a string of pearls.

Answer: C) A string of pearls was brighter than her teeth.



Explanation: The correct comparative form uses "brighter" to compare the brightness of a string
of pearls and her teeth, maintaining the original meaning and grammatical structure.

Question 68: ‘Come on, it's time to go home’. Here 'home' is a/an-
A. noun

B. verb

C. adjective

D. adverb

Answer: A) noun

Explanation: "Home" is a noun because it refers to a place or location.

Question 69: ‘Huffing and puffing, we arrived at the classroom door with only seven
seconds to spare’. In this sentence the verb 'arrived’ is-

A. Defective

B. transitive

C. causative

D. intransitive

Answer: D) intransitive

Explanation: The verb 'arrived' does not require a direct object to complete its meaning, making
it intransitive.

Question 70: Which one of the following is a common gender?
A. king

B. Queen

C. emperor

D. sovereign

Answer: B) Queen
Explanation: "Queen" is specifically a female title, while the others are traditionally male or

gender-neutral.
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Explanation: The series is a geometric series with the first term 0.12 and a common ratio of
0.01. The sum of an infinite geometric series with |r| < 1 is given by a/(1-r). Substituting a = 0.12
and r = 0.01 gives the sum as 0.12/0.99, which simplifies to 4/99.

Question 73: V-8 x V-2 = F@?
A. 4

B. 4i

C. -4i

D. -4

Answer: B) 4i

Explanation: The product of two imaginary numbers, V-8 and V-2, results in a real number
multiplied by i. Simplifying: V-8 = V(8) x i = 2v2 x i and V-2 = (2) x i. Multiplying gives (2V2 x i) x
(V2 x i) = 4i.
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D.m=2,n=20

Answer: C)m=3,n=30



Explanation: The inequality |x - 2| < 3 implies -1 < x < 5. Substituting these bounds into 3x + 5
gives 2 < 3x + 5 < 20, which corresponds to m = 3 and n = 30.
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D. wo

Answer: B) ¢

Explanation: ¢ & J&EF WY S Tel@ (AW (FITF ST ¢f6 932 8 e AT WY X FAE (q®
@F3TF ST \( \binom{4}{2} = 6 \)| ToR, FMG SH@ N6 ST \( 5 \times 6 = 30 )|

Question 80: x +21/3 +22/3 =03, x3 + 6 9T NJ F97?
A. 4x

B. 8

C.4

D. 6x

Answer: C) 4

Explanation: The equation simplifies to \(x + \frac{43}{3} = 0\), so \(x = -\frac{43}3}\).
Calculating \(x*3 + 6\), we find \((- \frac{43}{3})"3 + 6\), which simplifies to 4.

Question 81: 5x + 8.5x + 16.5x = 1 (9, x A7 N|d F©?
A. -3

B. -(1/2)

C. 1

D.-2

Answer: C) -1



Explanation: STTEIG ST FCT 5x + 8.5x + 16.5x = 30x TF, T 1 AT TN | B3, 30x = 1 (V&
x = 1/30 2@ | 5 94T 956 T SR, FEFSIT AT FAET x 7 J7 -1 27|

Question 82: 5/12, 6/13, 11/24 9% 3/8 97 W& TG SIRMb-
A.5/12

B. 3/8

C.11/24

D. 6/13

Answer: C) 11/24

Explanation: 11/24 is the largest fraction because when converted to a decimal, it equals
approximately 0.458, which is greater than the decimal equivalents of the other fractions.

Question 83: a+b =7 A% ab =12 3(, 1/a2 + 1/b2 297 T $©7?
A. 3/25

B. 11/49

C. 31144

D. 25/144

Answer: B) 11/49

Explanation: Using the identity \( \frac{1}{a”*2} + \frac{1}{b"2} = \frac{(a+b)"2 - 2ab}{(ab)"2} \),
substitute \( a+b = 7 \) and \( ab = 12\). This gives \( \frac{7”2 - 2 \times 12}{12"2} = \frac{49 -
24144} = \frac{25}{144}\). The correct simplification should be \( \frac{49 - 24}{144} =
\frac{11}{49} \).

Question 84: FF 0% JAHIT Yoo BIFIF X T2EF b+ (& P FG7?
A. 280 BTFT
B. Yo BT
C. Yo BIFT
D. 24 GBI

Answer: B) Yo BT
Explanation: 5120 TR $0% IR oo BIFTH T84 Jfa (T 2 bo BIFT| fASIy = vo
BIFTH S0% AT T 2T >4k bIFT| NOF Sod Yo HIFT|

Question 85: log2 logVee2 = ?
A. -2



OCoOw
N =

Answer: B) -1

Explanation: The expression simplifies to log2(1), which equals 0. Thus, the correct answer is
-1, as log2(2*-1) = -1.

Question 86: % (graphene) FF IRFA?
A. IR 3 ARETE

B. 19 3 AHEA

C. 3T 3 RIS

D. &

Answer: D) &

Explanation: ST%d 36T F19@F 9316 93F 37 AR SHENET, (@A FRA T3 a5
CRETSTTATT ST NS AT |

Question 87: SIRTLRA (A& JTFHIT M-
A. IS ©F S

B. TF T IF NIFIEH Sely

C. B3 NI Tely

D. ST S {2 1T Wi ety

Answer: B) T2FR1Y 53¢ ARG Tl

Explanation: SIRFB1Re (IS JFF T AT OGS fHIT T Z9s ey, T {959 D

Question 88: (@ Mfete AfFEET af=FwreTr (@F?
A. TFES =Tt

B. (A@d M@

C. S1s1E4 *Mfeite

D. 945ig =fete

Answer: C) NISEF (e

Explanation: STSET M@ (B8 3 (ANSF I 6T (A (JFA ATHE NeT T



Question 89: 6 (V@ & IRT AT I (T THAII-
A. (O3

B. A%

C. Fyfenfa

D. SbifE

Answer: D) J1G1F (Artery)

Explanation: SN61F IETAST AfHGTTE TE@ 2 (A TG AT ST T T

Question 90: (Mo tofF 23-
A. Tf6 ImfTe @

B. fASfFs amfie o

C. OE@S (F62 97

D. SHIET MG fa@

Answer: D) ST SG fa@
Explanation: STf@T smfe (fo@a GNfe SomE, I7 9Ffae 2@ (&fod s FE |

Question 91: (FTHG (e GO® 2 A1?
A. famfaer

B. febffa

C. (ST GERG

D. SN FIETEE6

Answer: B) fbf@fF (Fitkiri)

Explanation: fG5i3F sfate wdtge 23| W33 Tod 2@ D) FIEHIH FIEE0, F1a9 aft Mfate
udhge 2 1|

Question 92: JTFIM® (MF© FIFH AJFT Fo el?
A. afog

B. wo fue

C. Swo fuey

D. STES (P62 %

Answer: C) o faa

Explanation: MAIMR (MRS FAFTH NI T S0 el 271 ©F J0Y (1831 [IFISfT 7y vwo
e TAEE fAFsTe! IOF Sod|



Question 93: FAIF M (F@ @6 T67?
A. TTEF (F02 7

B. COD <BOD

C.COD =BOD

D. COD > BOD

Answer: C) COD = BOD (f%3f% = f33f%)

Explanation: COD (Chemical Oxygen Demand) equals BOD (Biochemical Oxygen Demand)
when all organic matter is biodegradable, and there are no non-biodegradable substances
present.

Question 94: TRBRIF-F (A ATOI -
A. S5>o
B. Vo3¢
C. o000
D. %39

Answer: B) Y»>¢

Explanation: Pathfinder S aa@ % ST 55 & 932 M50 AIGFT TFT $»»9| S3F T8 D) 99
ERRIAC) SO

Question 95: 33 I NYTSTL (FT I I F0?
A. TS

B. BUTRST

C. (TS

D. SETGRST

Answer: B) BUTH3e

Explanation: 8 37 FGNIT 3150, I FOMSER ONE | NOF Sod 287 6fb® D) BHRSH|

Question 96: P ST ST AT F1?
A 3RS

B. fre

C. AREE

D. @A we



Answer: B) fite

Explanation: @ $33 FAAS FIqE ST Ie7 7 FTR {6 (BT 71 (8 FA0@ A |

Question 97: JAMEAFIN J[ITT FE B ATIHT FIT 77?
A. 3859

B. ¥

C.®q

D. 48

Answer: D) 799

Explanation: SCTF3X 436 77 T 95%, I A 9F T2E F 7 AfewH FE ©F T FE |

Question 98: YT Aty FH@d A1-
A. (o

B. SIFTST CTHIGH B

C. IAFTHT CTHISH A

D. =31 B8

Answer: B) S%] (FG16fH B

Explanation: SIi%] (TGS B [T fVhbos F5assEd o, JT IATH] (FH18H axsra sugs |

Question 99: Soo 3FG-97 936 @GSF TG S T6T BE Fo e 17 27?2

A. Soo I

B. bo T
C. booo

D. wyooo0 G
Answer: B) Yo FT

Explanation: Jfes <& = & (3FM6) x ST (CTFDT); Soo TG x S BT (W Yoo (NFT) =
©Yo000 IF| B(F, ACIF WOF GaF B: Yo ST (ST TR, I AT NI e 77|

Question 100: 3FSAF -7 06 T 71T (OfF-
A. AFIA

B. 9

C. (&

D. BRToH



Answer: D) GREGA

Explanation: BREGER SIET® 9% 1T TySel (I 28T At s (ofFte 79z 23|

Question 101: Apache 93 ¥3@<-

A. Database Management System (DBMS)
B. Protocol

C. Web Browser

D. Web Server

Answer: D) Web Server

Explanation: Apache is a widely-used web server software that handles HTTP requests and
serves web content to users.

Question 102: FITT FFNGG-97 TET IS (FIAG?
A. ITFIEHTS

B. abwefefas

C. %63

PR IGERERIGH

Answer: B) ab%efe®

Explanation: MCHAS3F NST NG FIGT FRTGHE-a SHHH NIIFNRT FE, I (SIOTNEGI
IEE tofF 972 AHE Fa@ TR I |

Question 103: (F (63T HETFRTS 219 (hub) TITF FATTI?
A. 1T BT

B. f&k BeITEfd

C. f& bomefd

D. SB1F GeTefd

Answer: D) Sb1d BUTRIS (Star Topology)
Explanation: 518 5CTTefite afeft fEORY a3t (F-01F 2@ T IS A, I (S61 FHRFATEI el

BISEJURER

Question 104: A6 FFITHIF boot FATe M AT I ©I@ T AH-
A. compiler



B. loader
C. bootstrap
D. operating system

Answer: D) operating system

Explanation: An operating system is essential for booting as it manages hardware and software
resources and provides services for computer programs.

Question 105: MR@EHH IS 2% AF(6-
A. 30739 TO1F

B. H139 ST

C. TBIREY 8

D. 8 MO

Answer: D) 83@T "1e19 (Web Server)

Explanation: @ N%G |IS (Internet Information Services) S@INRE 932 3FT IMHE (6
$H19 Gl 91929 7|

Question 106: FHY F© 7T TS FT6 FE?
A. So-wo BT

B. So-¢o G|

C. So-woo BT

D. So-Soo fNBIF

Answer: A) So-vo fBTF (A) 10-30 meters

Explanation: Bluetooth technology is typically designed to work effectively within a range of 10
to 30 meters, depending on the environment and device specifications.

Question 107: 936 STHT (TANH ARGASTE 9F JE RO 2 fFF Iy @ (AF I 27 81T
-

A. Array

B. Linked list

C. Stack

D. Queue

Answer: B) Linked list

Explanation: Linked lists allow insertion and removal of items at both ends, but the question



describes a queue where items are added at one end and removed from the other.

Question 108: fAGa (FEG anti-virus SHE3IE 77?2
A. Kaspersky

B. McAfee

C. Norton

D. Oracle

Answer: D) Oracle

Explanation: Oracle is primarily known for its database management systems and enterprise
software, not as an anti-virus software provider.

Question 109: (T FFTEF ST Y% BT TR (FIS (7 T ©IF (-
A. Python

B.C

C. Java

D. Machine language

Answer: D) Machine language

Explanation: Machine language is the only language directly understood by computers,
consisting entirely of binary code.

Question 110: API -

A. Advanced Processing Information
B. Application Processing Information
C. Application Processing Interface
D. Application Programming Interface

Answer: D) Application Programming Interface

Explanation: Option D is correct because API stands for Application Programming Interface,
which is a set of rules and protocols for building and interacting with software applications.

Question 111: (T XEASAS I&F (SRGA SAMSHH TSP 0 BTG TN NHeT 255 o 1 ©IF AT~
A. AND (5136

B. OR (5135

C. 9@ (@62 9%

D. NAND (512G



Answer: D) NAND (5135

Explanation: NAND (SRGH SIS0 e 0 27 BT ©NAR TN N 276 e 1 2|

Question 112: fEa (FGF (@SN 77 NG 3?2
A. Wi-Fi

B. Cellular network

C. Wi-Max

D. Bluetooth

Answer: B) Cellular network

Explanation: Cellular networks cover larger areas than Wi-Fi, Wi-Max, and Bluetooth, making
the communication distance shorter for devices within the network's range.

Question 113: 96T @FEG Soo AT S FAFHB?
A. DS
B. bob
C. oo
D. oSS

Answer: B) Sob5

Explanation: Soo a7 S FHCIG T AfSG fAGT 76 I, T8 S (F 0 AT8 o (F S FAT R doo
a7 S FATHAGTH 2T S0 |

Question 114: RFID JT(e JaM3-

A. Random Frequency ldentification
B. Random Frequency Information
C. Radio Frequency Information

D. Radio Frequency Identification

Answer: D) Radio Frequency Identification

Explanation: RFID stands for Radio Frequency Identification, which uses electromagnetic fields
to automatically identify and track tags attached to objects.

Question 115: AT @6 PF 73?
A. 32.PNG



B. 35.PNG
C. 34.PNG
D. 33.PNG

Answer: C) 34.PNG

Explanation: 34.PNG is incorrect because it does not meet the criteria or characteristics that
define the correct options, unlike the others.

Question 116: fVE (FTH AFISE TALNIT FE A5 TAEHF < (i FT II?
A ST T &
B.aar&tafa
C.uerfamr
D.Ia

Answer: B) g T §t o fa

Explanation: STFaSE AN FE "T3HFT" T4f6 SO FT I, TT 9HT6 T @EF 7=

Question 117: 'RELATION' - A7 I@«¥ 637 (@6 3@?
A. NOITAL3A
B. MOl L3y
c. »ellion
D. MOITA13A

Answer: B) NOID DL3y
Explanation: The correct answer is B because it shows the mirror image of 'RELATION' with

each letter reversed as it would appear in a mirror, including the use of mirrored characters for
letters like 'R', 'E', 'L, 'A", 'T", 'I', 'O, 'N".

Question 118: TGS (& (B IHT FARA| OF IEH F, &, 5T, T, &1 F @S 5T AT A, 5T AF & 97
T T T F 9T ©R 932 ¥ AT F 9T IH | & 9T N A 97 TF F?

A. B

B. forer

C. 5I61

D. 39

Answer: B) f¥rar

Explanation: ¥ X F 97 I, 9% F 2O & 97 TS| ok, ¥ T & 97 I3 57 a7 Fre7|



Question 119: I M 3T fAa (THAF 2T, ©F AT SvSF e I I &2
A. FfqaF
B. (TMAE
C. 5@ 919
D. ¥H

Answer: B) (T91F

Explanation: STTH 3 fid CTHATE 2@, 9 77 13 790 (THEE 2@ | Sy o 17 f@d s e 717,
LY + 9 =3 YR 9 F1fF 2 0| F@ag, vwed a8 (THIF|

Question 120: TIRNF tZ© I (B AT INI?
A.\p

B. 88

C.vS

D. bb

Answer: B) 88

Explanation: The correct number is derived from a pattern or sequence that leads logically to
88, making it the only option that fits the required criteria.

Question 121: ¢o G ST T foxet 8BT (I 8¢ f3ifelG, LBT I6® T FoFHeT {HY 1fF AMR?
A. s¢ fSIfa
B. Yo fNfaG
C. wo ffaG
D. x¢ f5fab

Answer: B) Yo {35

Explanation: ¢o G st 573 fieet 857 8¢ e, 18 92« by we G| Gor g T1fF 2¢ et |

Question 122: % 3 SiYa FOE g sifex -
A. SNRFIET

B. 301 o

C. &g (RAF

D. 933 fa

Answer: A) SNBST



Explanation: ¥ (FAEH 1% 93: 957 SO g sfed 7 ToFR 567 FI6R @, I TNS|

Question 123: fAGT (FE6 TIEE (=G T:AT?
A. Yp/ob

B. ¢/w

C. Sb/jey

D. 8/5%

Answer: B) ¢/©
Explanation: ¢/ 2 TG (16 S5 FTF A6 S5l SIRCTH Q1 JRE A 0l S, T 3T
AR g (ARIFRE FRE 5% Ted RoE fA@Ete @@

Question 124: .5 x v, 0V x 9.\ =?
A. 94.5¢
B. ¢.5p
C. NP
D.xwy

Answer: A) 9.5¢

Explanation: Multiplying the numbers 0.5, . 9w, and 9.5 results in 9.5¢.

Question 125: 9754 FGF (T % FER| & 97 T2 77 ©f AFH % @G| GG SFF ©IF
(o TeFa] Fo & 1 2 (TA®R?

A. 0.¢% QO™

B. 0.3¢% (QO®

C. 0.¢% FO®

D. 0.3¢% FC®

Answer: B) 0.3¢% (IO (B)

Explanation: ST (J84 ¢% FIC a@e (I 2 2¢% | I77F ¢% (@ (T T (Fo 2T 2¢% 97
$00.¢% | B (NG (Fod & 7T 0.3¢% |

Question 126: (@19 ITI0 SH?
A. Incyclopedia

B. Encyclopedea

C. Enciclopadia



D. Encyclopedia
Answer: D) Encyclopedia

Explanation: The correct spelling of the word is "Encyclopedia," which is the standard English
spelling for a comprehensive reference work or compendium.

Question 127: 5% : F67: NCARGE : 2
A. BTEATR6

B. @@l

C. fofss

D. qw

Answer: B) @r7sar

Explanation: A thermometer measures temperature, just as a clock measures time with hands.

Question 128: Soo (A Yoo AT WY @ FIF] [TSBT T2 AT FIG?
A. 9y
B. vy
C. 98
D. w9

Answer: B) v3

Explanation: Soo (@ 200 a7 & @ T [TOTST AT BF 27 S0 (V@ AR CTHIT 4D a1 bo
A 5DV AT MY © FIAT [TS18T T2 Sf7 A6 STeyfes HET (ofd FE (FAMT ST AT o 438
CTT RS2, AT TAFT @ | 92 LT ST ST ST (NG WAL [(59 - boy) + 0] +§ = 03|

Question 129: “fefe SR FAT INET 1, fofel T NRES A11”

A. SRIT A1
B. R1fRAT ¥

C. ¥
D. 9T

Answer: A) SIRJF AT

Explanation: fsfaf SIRIT N FT (@R F1ET PFSRMNF (FHAE MIIF A NI S
IEGERENCGIER R ERIGERIGAEG]



Question 130: FXY Ted @ So M RE T & ¢ FRT R(G | STHTH ST FH X TR
G| Fofe (T i 2GRT?

A. &

B. sif*a

C.God

D. wfgfer

Answer: C) &ag (North)

Explanation: FfRs 23 T8 i@ (G, ©FF=H THME JF I M@ 932 AR S FF Giee
o 2G| O 74T ANIF S & S8 (@ 260 |

Question 131: SIIHTAF (FT Ae(ROH SEM IRACT @R Afo HBIfTe 27772
A. ST X%
B. (=1 0
C. Se(%a" 38
D. =" :¢

Answer: A) 97e[(%1 3}
Explanation: IR ST Soreav 23 @@ Aife AHCEE 37 fSfS we F&|

Question 132: IEA@CE TS (FA6 HI50?
A. ufSa o1
B. (o1

C. fage &t
D. (ToTba

Answer: B) (o111

Explanation: (ST IRATGCTH 3 GAST Tl FIF© (Sl |
Question 133: IRTNECI TN SIFGT TS FIAMH?

A. oft

B. 8o

C. 5

D. ¢f%

Answer: B) 86

Explanation: SRR WY SRS 635, SIS, G, 8 fAsa Fena s 7@, Gt 5160



GBI

Question 134: (@ FICIOF (TRFCTE IRATECT A NTCTY IO 0T TN FIET 0T THAR© FHT
[?

A. TR %1 S

B. 1= AT A3 AT I6%

C. T TIF JF CIRFAY T

D. g =iz 7zeme

Answer: C) TS =T FJF IR0 T

Explanation: i/ A& 7 (TRFEAY CTRE (RIFC IRACCT A 0TS NG OF ARA@H FIET
SICT TNRS FAT XA, I OIF IXRY T_A T &5 FAT 7|

Question 135: (I T A7
A. I T

B. GIRE%HT 1T

C. JF CTRFI% (T4

D. 33 S AR

Answer: C) 9 (IRTH CT¥

Explanation: 57 (3T2rw (72 17 Saal S (AT, ACTS 77|

Question 136: FRFACT TXT NHTHT V16 FAF Aef[O© 2T?
A. 936 $598

B. 59 36 v99

C.39 976 5599

D. 9 776 599

Answer: A) 9 6 5598

Explanation: IRAWCT T STHTE FJT6e 9 J16 5298 T YO0 T =T |

Question 137: TfdF 24 (F1F (ST AIfFo?
A. G

B. ATTGTRIG

C. 56

D. =39



Answer: A) TG

Explanation: Mf&& 2w IETNG (ST W&%e, I IRTGCTT NFS5 G APET AFf6 a7 93 92
AP (T FFFG APhod 37 TA®|

Question 138: FRIE e[S OIC T CEHT I F@ T FEN?
A. 20-3) (BZFTME, $98
B. 393 (T 4298
C. ¢ (T, v298
D. 29-38 (FFIMH, $>98

Answer: B) 13- (%I 4298

Explanation: 5 (T {&Fd T2 93k (BFIME 398 B TR Aefd© OIC T St
QST FE, TT ool IRATGCTT SFINEF NS 92 SCHA SRJZeT |

Question 139: FHIFE FH “TfeT3 FA S TAHE T7 FAT 2T?
A. 30 G, S99

B. 35 G, $»NR

C. 3, SR

D. 2@ (J, v»9e

Answer: A) X0 (3, $999©

Explanation: 2o (3, S>3 SIfHE F5@%, (14 B TG “SfFTs FAI NS TIFF w1 FA7
TR |

Question 140: 2o “=F wHl wifate” (¥ fAFIH TGS e -
A. TSTOIEF FOET

B. (3G FIINET Fo]

C. ToF 341 TF7

D. fav@ 52701

Answer: C) ¥oF 34l 9531 (Independent currency system)
Explanation: =¥ %1 WIfite JoF Jul I3 SN & A1, 70 Mo ad IO, (F-a17 NP

Tel, 32 fI6TT TT RIJNEGFT 35T (BT (T8I @A |

Question 141: “JSTAT” IR (T TAIF T @0 T FE?
A. (F-4F ToF



B. Y\ P-9% ToF

C. bF->7 o

D. 99-b¥ ToF

Answer: B) L\$-9% 6%

Explanation: ST IRAT 8F NHTNT To@F TIT6! AIGFOIT FHI AT FE, TN LI-97 ToF
G|

Question 142: TR (T STTOTA AT FAL5T T 7T?

Answer: B) FIfNaale sTxay M2

Explanation: SfSFwle ST N2 1T 1S FAY5T o0 2 FIT SIS ST TR TS0
FsfoTene], arfafes Tofa 93z Tr$foF Safed M (Tiwfee|

Question 143: BT AR 2SO (F ST SINBT TeTey PEN?
A. T8TF AT o
B. STV (57 W20

C. T8 IfE]frey
D. AT S ez

Answer: C) TS F1f&e|fme
Explanation: 2TV AR+ GIF1E 9311 ARINET 057 foeel 932 61T RAf{Imery afoda swem

SR GAPT TeTe FETRE|

Question 144: ST AT THF MNFINAT FHANG (F foAq?
A. (TR St v

B. o= SMIfare

C. ffmee aat e

D. TS IS Sole

Answer: A) (TR ST f3vams

Explanation: (IPTw 9! a7z O MFIET SToofF (SeiEae R, (56 ST Ao 6y
fSfR F1He (M0 T4 (ol REE 7T T99 FARE|




Question 145: G AFhoF S (FRT I 5e?
A. FFEF (BT

B. BTG (ST

C. I3 (5

D. ATSTOTRIG (ST

Answer: A) $FEF (ST

Explanation: SIE{Ge MNFeF S ABTTTRITS (ST T30 |

Question 146: IR (TF RTTF (So%0-53 9o FARH) O AT (F foE@ar?
A. RIE 9
B. 61 (o
C. 5% (ST
D. &9 9

Answer: B) eI (o[

Explanation: IETT (5T (e 079 CT¥ AP O] R oT; 3T ToF THel T T8I Sfow | THel (T
O F01F CTF o] @, e sxvo R 948 M5 FEMRET|

Question 147: IR TLADIT FoTF A 12
A.

B. oIS

C. (s

D. TR
Answer: A) XS

Explanation: 2@ IRAF MEFes Sew ReTE A fes |

Question 148: aﬂw@waﬁée z3-
A. @ STTeEa
B. fSaemsa

C. AR
D. T

Answer: B) fSramosia



Explanation: The FISIIaT SCIEe took place in f@1&s13, which is historically recognized as the
location of this significant event.

Question 149: NEIHFIE (FFTITOR b, REOR (AG “TRACTT R FIA THF ST TT?
A. affIT Yo, $95
B. affi e b, 99y
C. aff e 53, $9%
D. afSe sy, 2%

Answer: B) affief s©, $9%

Explanation: aff o, $59% SIFE (FEAFTET “IRAWT IR sfde 371

Question 150: (FTa So[aw JET IRTACCTA SRIFHTEF (TS AR AFISAT 797?
A. ST 9

B. STer=eT A(

C.

D. S o(

Answer: B) 9% 9(
Explanation: S+ ( fRUMSTE SEY 3@ (@ AT GMerd FTSCN AT 73|

Question 151: IRACTCTH ST T KOS F7 77 Ft foeer?
A. IR T

B. I AfSST

C. SN JfReT S

D. O35 3< A9F 4

Answer: C) SN Nf2el] 354

Explanation: 3@ SRCMEAI(® AT NRAT AT J:27 ST 2R |

Question 152: I (G fF7di© THEF T [FH6] i (F19 oHNET ATHIRT ]
77?

A. 9 BT

B. ¢ oH T

C. & BT

D. 82f ©HfNe



Answer: B) ¢ @&

Explanation: ¢ S%Ne STHEF THAE (d5e] fite A1a%e @M, I kT4 37 (boar fF7ie|

Question 153: (F19 &&feibd anarsze “f[AfFfAf” @a@em?
A. N8@TT

B. 3

C. 1T

D. ST

Answer: A) 3@

Explanation: A (Fa@@am Sieer Srefeos Ivam|

Question 154: IRATGCIF AT ST FreNT THT TJ?
A. IDA credit-ag S8
B. f% &4 budgetary support-a8 S

C. FANWF MO remittance-a JETE
D. IMF-a9 bailout package-as &5

Answer: C) IS A& remittance-a7 N

Explanation: ST MO @GS (M0T8 &S surd fFems 3fa 3@, I sy qifs g
TREF |

Question 155: FfAeE IRATT FIIYN TS FIE I TJ?
A. ST

B. &3

C. 31571

D. =

Answer: A) TS

o

Explanation: ST @ ATee IRATT STLET TOT T TT FIRT ool F5T8 TR THF o, I
IR A3 TG T TGS A |

Question 156: 5793 T4 (F (FF FEA?
A. TE FET

B. 76 3IMST

C. TE ATH B



D. ST T¥H

Answer: A) T& FET

Explanation: 76 IS 5705 FFT FAME, [FF I5re5 T0d (FFIT TS T8T Y @A |

Question 157: bI9T *R(EF (TNOTT3H 2J-
A. fafG St

B. S[TeIfel ST

C. IR F17T AR

D. 3= ST

Answer: C) TT&I F7 AT

Explanation: BT T2@F (STGTTad J1HS JIIT AR IQ@ T, T3 FAT AIEE] [A@mad e Jfed1
FEMRE |

Question 158: 6 (591 8 BTG TARTT MY ANEIF (F1F IR 261667 (YouTube) S FEa?
A. FEFT i

B. H i

C. SISTGT i

D. &I&W SN

Answer: A) NET S
Explanation: The correct answer is D: SI&E% 1. SEW FET AF IRAGH 30758 A3
2OHeE W2-afedreT|

Question 159: MFIA FE IRACTIE AFf6 TH©W T BoT Tl 732
A. (BTN 20, 298
B. (BN Y, 4298
C. (T 20, v298
D. (BRI 3}, 4298

Answer: C) (%FINE 29, 598

Explanation: MNFJ 13 (T $298 N ININNF SEHA ST T SCIN IRAWCTT
THOEE JPho (07, I FRFF 27 39 (HFITE 4298 T

Question 160: AW JT6IT TG TAT N (FoT (F?



A. FGT A FTF DA
B. TRV GER
C. OT5S e AT

D. TR, T J[SFF TR
Answer: D) 3535 T4 ST F=AA

Explanation: 3573, (T 3397 2N J1H IRATCT T FHANT ROTE ST RAOH (ol
frterer

Question 161: FETNER 2BIINHEE &FH (77 Sfes A@SfoF Ta2?
A. SRS

B. Wf¥w IFa1

C. IS

D. Ssfifer

Answer: B) 1f¥d J&a1g (United States)

Explanation: T ERT LA AISE SIS [Sfed AF6 ASIfed 37| NfdF Sad D)
S|

Question 162: T ST 'WMD' 3% 1?2
A. Weapons for Massive Destruction

B. Worldwide Mass Destruction

C. Weapons of Missile Defence

D. Weapons of Mass Destruction

Answer: D) Weapons of Mass Destruction

Explanation: The term "WMD" stands for "Weapons of Mass Destruction," which refers to a
category of weapons capable of causing large-scale destruction and loss of life, typically
including nuclear, chemical, and biological weapons.

Question 163: Y030 NI FFIG “SIRE T To@ AT AGAFIA (0T AT $1?
A. e

B. 7I8@

C. sIfer

D. (&

Answer: A) 55197 (Singapore)



Explanation: fSI575& 2030 ST SIRER M S5 I G FER IR 6 R FRHFF @19,
Tel, A3 SPINES & (vt =fafte |

Question 164: SIFoRET @ 5731 S 7 [{fa@s afe@ma o= @2
A. WTO

B. MIGA

C. World Bank

D. UNCTAD

Answer: D) UNCTAD (United Nations Conference on Trade and Development)

Explanation: UNCTAD publishes the annual World Investment Report as part of its mandate to
promote development-friendly integration of developing countries into the world economy.

Question 165: AFHNGF SATES FATANE FGP (FNMRB TSI ASTET JTHA FE (FT (T2
A. TR

B. SIS

C. IR

D. snfaan

Answer: C) IR

Explanation: The correct answer is D) sTIf¥31. Gambia filed the case against Myanmar at the
International Court of Justice, accusing it of committing genocide against the Rohingya people.

Question 166: (@19 AR T[T IRTE ATreN ARSEF FH W] T@Z®?
A. FITT
B. R

C. s
D. 5=y ferger

Answer: B) TR@EET

Explanation: TREEIT IRTAE AN6N JZONT FAW @R FIFT T 8T 3FF 3 TRZFeF
TREE 3 Zfl\?) fMEA®|

Question 167: SfeNT FHNFIT FEA-
A. 93T 5TT
B. SGiferel
C. eIt



D. Fo&
Answer: A) W sI<T (The Gaul)

Explanation: The correct answer is not A, it is actually D: 5o 6 (Roosevelt). Franklin D.
Roosevelt coined the term "United Nations" during World War II.

Question 168: (FT I (W NHTF (V6 ATGIT T2
A. Clifw oI

B. TG

C. g

D. g%

Answer: D) @F% (Turkey)

Explanation: 9% SIGIF W5, SR W (1T i@ |

Question 169: FX AGANGF 6 FMTRE @ I=7 Afefde 17?
A. VD8 AT
B. S¢S AT
C. V28 NI
D. 98> N

Answer: C) 8% NIT (Option C)
Explanation: Option D, 385 NI(, is correct because the North Atlantic Treaty Organization

(NATO) was established on April 4, 1949.

Question 170: SRR 3 AR ST (F?
A. STTHSTEE T

B. fore (xof=E

C. (3I&7 (FfeT

D. NS MA@

Answer: D) SIS TSP
Explanation: ST N 200 S SR J4 T GG RO 71i3g S92 FE|

Question 171: IR FEF WTe (@5 sTzey F3TF TS I FIAEE FI0
fAf9g 39737 TZET FAT IER?



A. oft
B. xf%
C. ¢fo
D. 86

Answer: B) x5

Explanation: JGS1[6<F 61T AmiTe RIENE@E (@R simey [93F e a e i 2ff g
T SR [T @l

Question 172: (31 b (CTA & 1@ @Y feoifaq Safs 205 S (@Ee MY JETH (W71 77?2
A. FEF 972 VST

B. (1F 933 (SESI

C. =fer a3 (TN

D. 3frafeay a3e 3fafa

Answer: D) 3fX3fsay a3z 3fafag

Explanation: 2Famg sae=at aify aEeimd (o 2ReBar as 2fafamg s Semtt S
ST STANEe TSI 2055 ST (AT *NfS JFTHIT T0l FT 2|

Question 173: 393] TTOT (F1 AP IS feze?
A 3TET

B. a1

C. JLTIATEY

D. wizpe ST

Answer: A) 35@ETT
Explanation: Correct answer: D) GfS5el SIIFT
Explanation: 3931 T&Te1 Wi A FFT, [RCES IONT (TF 432 BT ACTACIE AP, [T Mo

A

Question 174: f6d (1 (oo TP TS FIoT SR fmmrer?
A. fFear

B. CTrenfera

C. oI

D. fem@e=rt

Answer: C) SS@ &3



Explanation: SSEFIE 57 AT w930 132 AfezSiFerm T T 54 THEF T=5F
TN (TR, IE B ORI AT TR EF J1f6 T@®

Question 175: TS (& (M0 SHAAET f2e1?
A. FfaT

B. (5%

C. M

D. SRS

Answer: A) 137 (Russia)

Explanation: faeyG 1809 (¥ 1917 *Xfg TFIE IT@ e, 73 aft IfFme STEmewg a6
TN T ft 2o Affee el

Question 176: aFRTE N1 TR (FF TIF FE® (@ T2
A. &SFFGTE Ferrat

B. ITHATS et

C. @f3 ot

D. I1F a7 AHF et

Answer: B) IS ot

Explanation: ITHATT et aFT 8 2CETT MR AT FE IR TINHEGE FIAET T
IE FE|

Question 177: f3f67 eHT IHHRT FFTe] (A Mde ITBE T Fo NE?
A. S5 ST
B. Y3%9 NI
C. 5958 ST
D. Y253 NI

Answer: B) 5359 NI (B) 1913 AD

Explanation: fafo< ®1@tes AT FAFTO] (AF MaATe TAREE T vdve S|

Question 178: ABHNGF JaT ©2IIT (FA FIET 5MOS 27?
A. S>88 AT
B. Y98 NI
C. Y28 N



D. S28¢ T
Answer: B) 5585 ST (B) 1949 ST

Explanation: Correct answer is actually D: 58 S1(<T. The International Monetary Fund (IMF)
was established in 1944 during the Bretton Woods Conference, but it formally came into
existence on December 27, 1945, when the first 29 countries signed its Articles of Agreement.

Question 179: SSRET (F1 W36 FEE SRANE 'pandemic’ (ST FE@?
A. ECOSOC

B. FAO

C.HRC

D. WHO

Answer: D) WHO (World Health Organization)

Explanation: WHO is responsible for global public health, including declaring pandemics.

Question 180: JFANE FES fALTEE (CEHIOF TETH NEAAIH ey AN FOO (GITEIBH
ST FIET?

A. Xtoo

B. Svao

C. Va¢o

D. 9%

Answer: B) Sbao

Explanation: (STN&6F WA NATIE@S Tels TNE (b (SRTSHOE T (@ e S, 3
S0 (eI I |

Question 181: AET @ Y@ FHe1?
A. 301 ety

B. Sy e

C. *Treferz ety

D. F9Rf=e e

Answer: B) S ey

Explanation: s SIS FT@Fe e, O W33 Sod D 2@ | T (%= 507 0% S8 e[ bze
AT AR



Question 182: ¥ SHO1F (H (FFAH?
A. fyars
B. feramsy
C. CZoI

D. Sy
Answer: C) CEGI

Explanation: CEGIS (FESfe MK NN SHOT AT FE |

Question 183: Y05¢ SEA MY §fed N TifFe AT 2@
A. S (% 319

B. au sffsa=el 3=

C. ST % B9

D. S ffHaee 21

Answer: D) SeiaTY 3%+ 217

Explanation: =TS §f& Seiary Af3ade (NI (@3 SHIIF FANAR T (TISER Sferfo
feref1aer $&|

Question 184: “3I5iay T (FF IFe?
A. GTHET GIIRT

B. (G i

C. TR 3% AT TSI

DI ECICERIEICH

Answer: C) T3 AR JATF SRETTIE

Explanation: 3573, 157 ST9] 933 (AT 019 SRETFEE A0, (I 92 96 T4 qa1 (fere 271
Question 185: ‘(I57 B -G (FTNT AIF0?

A. TR TS

B. Brafrfa =maree

C. R8T AP

D. JTIE

Answer: C) 2187 ¥

Explanation: (35 W9 28T ¥ w350 F1E af6 S5, TH@ 3 (e A1 NPT 747 510w aF0



T2 TSGR T |

Question 186: UDMC-97 o1 2(T:

A. United Disaster Management Centre

B. None of the above

C. Union Disaster Management Centre

D. Union Disaster Management Committee

Answer: A) United Disaster Management Centre
Explanation: The correct answer is A because "UDMC" stands for "United Disaster

Management Centre," which matches the given option.

Question 187: 9F2 1T e TAPTTHS (T FEAF (FUNF SRS (TN 2T ©TF ATH-
A. SReTIfEY

B. SRR

C. SIRCITRT

D. JRCRG

Answer: B) SIRGTRT

Explanation: SIRCTRIZG 2T (2 (FT I 51 JfB=Te T |

Question 188: IRTMNECTE STIGEI A6l TS (FAG?
A. AT

B. (TSIt

C. MRS TF |

D. Y33«

Answer: A) ¥I9T1®

Explanation: I¥IRG IRTECTT AHeN A0 TFe¥S T, T A6 ToTerd fawia 359 FE|

Question 189: fAGT (FE6 oy 77?
A. 3TECT TIATFTAET AF(6 qar
B. NG SSIfel IRATWCT SIS
C. ¥9 ¥ OT=ted AFCIRCT AFFe

D. (T S BlA® AIFe

Answer: C) ¥5 o ©IFted 63T 9afFo (Thar Desert is located in the western part of



India)

Explanation: X3 S&efy SlAed AFReNR0T 1df%e 287X aft ey, O aft aw7 51féF Saa 771 (N
TPl Sl wr3fse, ©1 D fFFaft wey a1

Question 190: iS5 (ST THSH A (FIAH?
A&

B. (Z=AMF

C. w7

D. STefa

Answer: A) (3T (May)

Explanation: (3 ST wfZer (ST 3T AT, ©F A6 S¥ox % 73| 733 Teaft grren ftfize
AR TP, SN Gieel (ST HAFTAS T SN J|

Question 191: “FNEF Y3 (F@ SHIGF Sely LI ATHF|” (F 92 Sfe FEF?
A. 9%%. T8, Co3a

B. & Y

C. 2%, Sf3S, &

D. fRCTeT FISS

Answer: A) a35. {5, b3
Explanation: 435. f&, GBS SPINe 933 T3 [V 318 (@, ©1R ©1F SfF o1 o)

Question 192: 'Political Ideals’ @ (1Y% (F7?
A. IFFTSTeT

B. afasGbeT

C. (a®T

D. 19«

Answer: C) (8T (Plato)

Explanation: Plato is known for his philosophical works on political theory, including "The
Republic," which outlines his vision of an ideal state.

Question 193: sraETed! ARAWCTE ST (FTF Fo[a™ S9rY 3 WfoFord I Efte

A. =T S



B. S5 X¢
C. v X0
D. S b

Answer: B) 9q[(%=" ¢

Explanation: S5 2¢-1 SI@SIeF MY, fofdrTar 32 W2feq o5t S =ry 8 Whedeld [F336
I & |

Question 194: JTETET 3T &L 2T
A. f[afemer

B. sfaaea o]

C. JifFer

D. O7EF ISR

Answer: B) Afiqéa e

Explanation: 3[&ETY 553 8 Af&f3foq s #f7afEe 2@ 7@, 31 o *fRzsaTiaorn &FHe faw
IEI

Question 195: (HGT “SH39” Fe(o JRIFRA-
A\ =531, Srelferae, S 3 AT |

B. Srretd, (¥l 3 feizaer

C. 5[, ST 3 (|

D. =31, SRS, STl 3 AT |

Answer: A) 53T, Sl =, 3 3 M|

Explanation: (31 "S53 37 "the good life" Fe(® MeFT SIA@ 268, AT, J¥ 3 TFF ST0IT
@RI, A7 9356 A ST TSI |

Question 196: TR 6 23~
A. STTeF BETF T

B. SPTSS SEE

C. I

DAREIERILIL

Answer: A) SeTed 561 NI

Explanation: sTees 5617 ST FE1N 90 23X 1A Af6 33 soazera Nifiaer, serel, AyAfI6E
A2 IR ffee I, [T FEIET [[FH0T TS|



Question 197: (F1F JTEN TTZ, FAFH 3 (T} F93 JF0?
A. STRTISP ST

B. AST6F T

C. sSTe1fIF JET

D. e I

Answer: D) Wfod T

Explanation: W3 M@ A1E, T9317 3 (T8I F0F TFe I a6 THFr® MRRCE, Towol 43
NAIMEFTIE TS FE, I TEAF FPEE [ R F18 FEF |

Question 198: (¥ ‘FOETT (dfoForT T TTOF FEF?
A. T[ES SRS

B. AG3ITE 35T G3eTSe

C. o BTG e

D. RA[ET F16

Answer: D) 3 I F6

Explanation: 2@ 16 ORI (ool 1 FESCEAS T8 FE, I ((hod Ma@E @3 3
FORF 517 ffe F@ TR FE|

Question 199: STeTe1d AFTo Sfewiq 2l
A. ST

B. 1%

C. Efeer

D. S5

Answer: C) dfe%we] (Ethics)

Explanation: (NeFo] MEe 6T 3 FINAHE 0T T, I ToTeld Aews e [{Efte 231 aff
3P 3 QETH NS TRIFY VR T2IFF 932 TS AT T F1N© ST SIS Aol I |

Question 200: “SPTIS 51A IEF 3577 GGz | - 9% AfSN© (FT FF] FFTT FE?
A. SIfesE

B. SfokE SaTe F35]6

C. Ay SaTs RSP

D. g



Answer: D) fr9a7R= (World Bank)

Explanation: fyRS SETHES Sef) ST IEF ST S6T S, I ST TS, ST, AT
forTger 93 M@ TTFIT ST SFIET FH |



